Center Activity Answer Key
Activity 3.51

* Check Understanding

20; Possible answer: | used an array to show
2 equal groups of 10. Then | skip-counted by
tens 2 times.

Activity Notes

Students will practice their multiplication facts
for 0, 1,2, 5, and 10 by multiplying any number 0
through 7 or, 10 with O, 1, 2, 5, or 10. Check
students’ work for valid multiplication strategies
and correct products.

%% Check Understanding

20; Possible answer: | used an array to show
4 equal groups of 5. Then | skip-counted by
fives 4 times.

Activity Notes

Students will practice their multiplication facts
for 0, 1,2, 5, and 10 by multiplying any number 0
through 10 with O, 1, 2, 5, or 10. Check students’
work for valid multiplication strategies and
correct products.
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*%* Check Understanding

40; Possible answer: | used an array to show
8 equal groups of 5. Then | skip-counted by
fives 8 times.

Activity Notes

Students will practice their multiplication facts
for 0, 1,2, 5, and 10 by multiplying any number 0
through 10 with O, 1, 2, 5, or 10. Check students’
work for valid multiplication strategies and
correct products, and make sure explanations
are based on correct reasoning.
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Center Activity Answer Key

Activity 3.8

*k

Check Understanding

7; Possible explanation: Since | know the related
multiplication fact, 5 X 7 = 35, | know the
missing number is 7 because related facts use
the same numbers.

Recording Sheet
Possible answers shown.
20+-4=55X4=20
3X2=66+3=2
5X3=1515+3=5
4X6=24,6X4=24
10+-5=22X5=10
18+9=2,18+2=9
30+5=6,5%X6=30
4Xx7=2828+4=7
32+-8=4,4X8=32

Check Understanding

8; Possible explanation: Since | know the related
multiplication fact, 6 X 8 = 48, | know the
missing number is 8 because related facts use
the same numbers.

Recording Sheet
Possible answers shown.
7X4=28,28+7=4
40+5=8,8X5=40
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* Kk k

6X4=2424+-4=6
35+7=55X7=35
3X9=279X3=27
24+-3=8,24+-8=3
32+4=8,8X4=32
7X3=21,3X7=21

12+4=3,4X3=12

Check Understanding

7; Possible explanation: Since | know the related
multiplication fact, 7 X 9 = 63, | know the
missing number is 7 because related facts use
the same numbers.

Recording Sheet
Possible answers shown.
28+4=77X4=28
7X6=42,6 X7 =42
54 -6=9,6X9=54
8X7=56,7X8=56
9X8=72,72+9=8
45+9=545+5=9
63 +9=7,9X7=63
48 ~8=6,8 X6=48
9X4=36,36+9=4
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Center Activity Answer Key
Activity 3.11

* Check Understanding

3; Possible answer: 6 x 3 =18

Recording Sheet

Answers will show a related multiplication and
division fact.

*%* Check Understanding

4; Possible answer: 6 x 4 =24

Recording Sheet

Answers will show a related multiplication and
division fact.

* %% Check Understanding

8; Possible answer: 6 x 8 =48

Recording Sheet

Answers will show a related multiplication and
division fact.

©Curriculum Associates, LLC

Operations and Algebraic Thinking | Level 3



	RCM03_NA_CMS_U02_L05_MCA_01_AK
	RCM03_NA_CMS_U02_L11_MCA_01_AK
	RCM03_NA_CMS_U02_L11_MCA_02_AK

